9stufige Grauskalierung zwischerL* gan=4.0 undL* gaw=96.0,Ygre=3.6, Normierung: grauU

C*0an=4-0, L*0au=50.0, L 0aw=96.0, Yoan=0.4, Yoa 7 18-4, Yoaw=90.0, Coay=Yoaw: Yoan=203.2

L* L*tN:21-5xL*taU:50-0rL*tawzgo 9, Ytan=3.4, Ytau=18.4, Ytaw~78.3,Gay=Ytaw: Ytan=23.1
100+ n0.i L*0a L*Or YOa YOr :L*a AlL*a L*tr Yta (L*r) 1.3 (L*tr) V13- *0r
()9 90 10 900 10: 909 . 78.3 1,000 0,000
3 10.5
8 845 0875 650 0721 80.4 0.849 57.4 0,881 -0,007
10.4
751 .7 730 075 452 049 70.0 0.699 408 0,759 0,009
: 10.2
6 615 0625 298 0328 59.8 0552 27.9 0,633 -0,008
i 9.8
50+ @5 500 05 184 0201 50.0 041 184 0503 -0,003
: 9.3
@ 385 0375 104 0111 40.7 0277 117 0372 0,003
: 8.3
@:3 270 025 51 0.052 32.4 0.157 7.3 0,240 0,010
25+ :
' 6.6
@2 155 0125 20 0.017 258 0.062 4.7 0,118 0,007
3 43
1 40 00 04 00 215 00 34 0,000 -0,001
0~ AL*..=115 i=12..9 Normierung: Yigiu=Yoay —Joait Yoref _
ta (i=1,2,...,9) 9- Ttailu=YoaU ~y_ V) o 3=0,0001
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